RBW 100 kHz RF Att 20 dB
Ref Lvl VBW 100 kHz
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Center 418 MHz 1 ms/

Date: 21.MAR.2008 08:01:27

Time of the First Pulse = 741.482966 uS
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Center 418 MHz 1 ms/

Date: 21.MAR.2008 08:01:54

Time of “Small” Pulse = 1.062124 mS
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Time of “Medium” Pulse = 2.064128 mS
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Center 418 MHz 1 ms/

Date: 21.MAR.2008 08:09:40

Time of “Large” Pulse = 2.244489 mS
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Center 418 MHz

Date: 21.MAR.2008

07:57:18

10 ms/

1* Pulse = 741.482966 uS

19 “Small” Pulses = 19*1.062124 mS =20.180356 mS

4 “Medium” Pulses = 4*2.064128 mS = 8.256512 mS
2 “Large” Pulses = 2%2.064128 mS = 4.128256 mS

Total Time =33.31 mS = 33.31% Duty Cycle



